QGA. QGB &HI<iT

QGA. QGB &M

WGARFISHERZMREMEBSE, WBRTISHREANSH. TENRAZTAULEN I HERE

SENERER, REBREEHIRITERRN, RETSONBNERZETRERR, EEEEH
RERE, E3TR, BRLEMERZ.

— BSHH

T
H}
Ar

GGA 40 X 100 - §

0GA—— .
s SRS — TiFid: EAR
SHER (mm) — S: ERERR
SHE{THE (mm) —RERA —— B dEEHR
— F: FZZEER
— G: MR
Z\ ERBY
4 =10+ +H N i (N)
sune | FESE | TEEARE BEAREg SR M)
(mm) (mm) (MPa) (‘C) (E7150. 4Paktit §)
#h Ty
¢ 40 40~300 0.15~0.8 500 450
$50 40~300 0.15~0.8 780 700
063 63~800 0.15~0.8 1250 1120
¢80 63~800 0.15~0.8 2010 1880
$100 100~1500 0.15~0.8 -10~80 3140 2940
$125 100~2000 0.1~0.8 4920 4520
$ 160 160~2500 0.1~0.8 8040 7540
$ 200 160~2500 0.1~0.8 12560 12060
$ 250 250~2500 0.1~0.8 19640 18860

i RELRERSHE, NEERENMANEK5%5~20%

105



EEAFTIHERERATS

Henan zhengkaiyuan machinery technology co., Itd

-3

EHEEAS

e EE) B

RiE=RF

MzEe

106

QGA RIISKHE

7L+S e E
L L1+5 | 2 16
M| '%5 o
3= gp g %ﬂ b
! B Cuat
XD+$
L £ik E
MR g _u @ @
J e
0009 /g [ o a
WS
2-EE %
Y @
S5 D= _31 L AN 0
= E Y| = éj | \Ey ||
g Nl | =
XV+S/2 = 0 =
2-EE
E OERUE
2 y P [\ 6 ¢
IF+$ TF
s 2-EE UF
i o @
1| 4-0AB
= Ep |~ o0 =
1T SA+S 1T




QGA. QGB &HI<iT
FARES D40 50 D63 80 »d100 125 160 200 250
AM 15 20 20 25 25 30 30 35 35
WH 20 20 20 20 20 20 20 20 20
DD M6 M6 M8 M10 M10 M12 M16 M16 M20
7L 115 120 120 128 128 164 164 212 212
L1 70 75 75.5 83 83 106 109 138 138
HC 5 5 5 5 5 5 5 5 5
B 34 45 45 55 55 65 80 80 110
E 55 65 80 100 115 145 190 225 280
TG 40 48 60 75 90 112 145 180 225
dGC 42 53 53 65 76 93 115 150 170
L 25 25 35 35 45 45 55 55 60
10 10 15 15 20 20 25 25 30
XD 150 155 170 178 193 229 244 292 302
KK MIOx1 | M12x1.25 [MI2x1.25| M20x 1.5 M20x 1.5 | M24x1.5 | M24x1.5 | M30x 1.5 | M30x 1.5
EE M10x 1 MI0 x 1 MIOx 1 M14x 1.5 Ml4x 1.5 Ml14x 1.5 M18x 1.5 | MI8x 1.5 | M22x 1.5
M 2-M8 2-M8 2-M10 2-M12 4-M10 4-M12 4-M12 4-M16 4-M16
K2 5 5 6 6 8 8 10 10 12
EW 20 20 30 30 40 40 50 50 60
MR 10 10 20 20 25 25 30 30 40
dCD 10 10 20 20 25 25 30 30 40
DB 30 30 35 50 50 60 60 70 100
XV 67.5 70 70 74 74 92 92 116 116
™ 75 85 100 150 175 210 240 300 360
TL 15 15 20 30 30 40 40 50 70
VW 58 70 85 105 126 155 195 240 300
dTD 15 15 20 30 30 40 40 50 70
7F 125 130 132 140 144 180 184 232 237
UF 110 110 135 160 200 230 270 340 410
K1 10 10 12 12 16 16 20 20 25
R 40 48 60 75 90 110 144 180 224
TF 90 90 110 135 160 180 230 280 340
OFB 7 7 9 11 11 13 17 21 25
XA 140 145 160 168 168 214 229 302 312
SA 145 150 180 188 188 244 279 372 392
AB 7 7 9 11 11 13 17 21 25
AH 46 46 63 65.5 78 85 110 130 165
TR 40 48 60 75 90 110 144 180 224
dd 16 20 25 25 32 32 40 40 50

<107



3.8

EHEES

BiE=RF

FE=AF

HzRse

e R B

108+

EEAFTIHERERATS

Henan zhengkaiyuan machinery technology co., Itd

QGB &FISKH

VD H = fE
: i A o | ©
g HO) 1=w
ol = | )=
@ | B [©]
M HG 16
il L+8 :
2-EE
¢ 0D (H9) K i - 5 ®
-
MR X:a 83'_T_ «9
L EWS
XD+$ -
K 2-EE
Lifj ﬁj}l‘ji EAaIE
ﬂ%}[ L @@ e
W - Po T 9
1B+S TF
UF
2-EE
0 S | ©
H \ &
&/
69{@. «@_C
K TF
IF+$ F
2-EE
XA+S
U] ) ® O
= w HO)
= - ___k§[T Q@ | ©=
‘ XD+S ‘ AO T i1
| | TR
o 2-EF E
-] | § © ©
= © WIF SH(O)-3 =
L 4& L] Ky I
. @ 1 o
XV+$/2 .o




QGA. QGB &Ikt

ZIHME | QGB40 QGB50 QGB63 QGB80 | QGB100 | QGB125 | QGB160 | QGB200 | QGB250
KK MI2x1.25 | M12x1.25 | M20x 1.5 | M20x 1.5 | M27x 1.5 | M27x 1.5 | M30x 1.5 | M30x 1.5 | M39x 1.5
dd 16 16 25 25 32 32 40 40 50
dB 34 45 45 55 55 65 80 80 110
EE M10 x 1 M10 x 1 MI4x15 | MI4x15 | MI8x1.5 | MI18x 1.5 | M22x1.5 | M22x 1.5 | M27x2
DD* M6 M6 M8 M10 M10 MI12 M16 M16 M20
AM 30 30 35 35 40 40 50 50 60
WH 45 45 55 55 70 70 88 88 100
VD 21 21 26 26 34 34 40 40 50
HG 3 3 3 4 4 4 4 5 5
TG 40 48 60 75 90 112 145 180 225
E 55 65 80 100 115 145 190 225 280
ZL 170 170 200 200 245 245 293 293 350
L 30 30 35 35 45 45 55 55 60
7B 173 173 203 204 246 249 297 298 355
K 10 10 12 12 16 16 20 20 25
W 35 35 43 43 54 54 68 68 75
R 50 55 65 80 100 120 150 190 230
UF 110 110 135 160 200 230 270 340 410
dFB 9 9 11 11 13 13 17 17 21
TF 90 90 110 135 160 180 230 280 340
7F 180 180 212 212 261 261 313 313 375
dCDh 15 15 20 20 25 25 30 30 40
MR 15 15 20 20 25 25 30 30 40
XD 210 210 250 250 310 310 373 373 440
EW 30 30 30 30 40 40 50 50 60
K1 5 5 6 6 8 8 10 10 12
XA 200 200 240 240 295 295 358 358 430
AO 20 20 23 23 30 30 35 35 45
I 20 ~ 25 20 ~ 25 25 ~ 30 25 ~ 30 30 ~ 40 30 ~ 40 40 ~ 50 45 ~ 55 | 45 ~ 55
H 35 325 42 43.5 53.5 47.5 57.5 57.5 79
TR 50 55 65 80 100 120 150 190 230
AH 53 54 65.5 65 83 87 110 130 160
D AB 9 9 11 11 13 13 17 17 21
DB 30 30 35 50 50 60 60 70 100
XV 107.5 107.5 127.5 127.5 157.5 157.5 190.5 190.5 225
™ 75 85 100 150 175 210 240 300 360
TL 15 15 20 30 30 40 40 50 70
OTD 15 15 20 30 30 40 40 50 70
uw 58 70 85 105 126 155 195 240 300
R1 5 5 5 5 5 5 5 5 5
E1l 70 75 90 110 130 145 190 225 280

<109-



